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Q.2a. Differentiate between the indoor and outdoor propagation models. Name one
model from each category.
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b.Explain and differentiate Wireless MAN, LAN and PAN

Ans. Page 24

Q.3a. For a Rayleigh fading signal, compute the positive going level crossing rate of p=

1, when the maximum Doppler frequency is 20Hz. What is the maximum velocity of the
mobile for this Doppler frequency if the carrier frequency is 900 MHz.
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b.Explain with diagram consequences of Doppler Effect on wireless communication.

Ans Page 71-72

Q.4  What is multiple access? Describe TDMA frame structure in detail.

Ans Page 146-147

Q.5a. Describe GPS system and its limitation.
Ans Page 276-277
b.Discuss the Hand-off strategies used in cellular communication system.

Ans Page 411

Q.6a. What are the different methods available for improving coverage & capacity of a
cellular system? Explain any one in detail.
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b. If a normal GSM time slot consists of six trailing bits, 8.25 guard bits, 26 training bits
and two traffic bursts of 58 bits of data. Find the frame efficiency.
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Q.7 a. Explain AMPS system and need for GSM.
Ans.  221-223 page of textbook
b.The capacity of cellular CDMA & CDMA power control.

Ans. 229 page of textbook

Q.8 a. Compare ad-hoc and infrastructure mode WLAN topologies.
b. Enumerate various security risks associated with wireless communication.

Ans 440,441 0f textbook

Q.9 a. Describe different routing techniques.
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Ans . Page — 303-313 of textbook

b.Explain different characteristics of MANETS.

Ans . Page — 304-305

Textbook

l. Introduction to Wireless and Mobile Systems, Second Edition (2007), Dharma Prakash
Agrawal and Qing-An Zeng, Thomson India Edition
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